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ROH0g 565¢r0Bo

093000 BMIO0Y 3oOJdbo:

F(w) = T f(t)exp(ion)dt - m

()= 1 TF (w)exp(—iwt)dw § u % 1 ﬁ
27 7

J)  — 6350000, Imo T

Flw) — 3083wgdbmeo; ‘

30D03M0 BMBJ300L 1Mo Labol LodgEos: F*-0) = F(o) . 2
' e

M09 35MgI6oL M30l9d900

19393 BOGE0S: ﬁ (f) + f2 (f) —> E (0)) + F2 (C())

whgoosr | [(D) (=17 > F(@)F, (@)



SLEAMMB0D030L 53MEI6YdOL FME0Mgds -1 / s, 093Bsdg

w9dagos 11-13/943. 2

060353030 C0xgMHY5305MMO 96EHMEgdols BMMog sbserobo

3659MMY35MM3560 0. 26EHMEgds:

d’f@) , df@)
dt

dt2 +a

+a, f(t)=g(t)

7m0 Loby:
— 0’ F(0)+iaoF (0)+ o) F(0) = G(o)
3906090 29bEMEgds (09) FmbgMbs 0bEHGAMIEOL 59ds):

G(w) = Tg(t) exp(iwt)dt

= N ®ogob 9608325002560 ©0%. 35692¢n98s J-9c0d030 30299%05096(998000:

a, —dnfn(t) +a

dt

d"' f(@ 4@

B - o
N i Yot

+a,f(1)=0
9371609 3590l 99909 3033000 2563 Megdols L3gdE®U:

a (—iw)" +a, (—iw)"" +..—aio+a, =0

53MbsblbOL SeYgbs:

f()= i +J:F (w) exp(—iwt)dt
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= N ®ogob 9608350032560 ©0%3. 3506902¢1985 3¢50 30299303090(990000:

d"1(t dn_l t df (t
a, —d{”( ) +a,, dt—nf_l()Jr...a J;(t ) +a,() f(t)=0, a,(t)=at
. dF (o)
(FO80350) 33es©0 3m9B0E096EGOL BIMH0Y Qodws: Oﬁf (t ) —> 7

dF (o) _

o, (~iw)" +a,_ (—ie)™ +...+a, [F(@)+ia 0

N ©0g0b 0. 2563 ™Megds 2553790900 30603900 MHOYOL OR. 456EMEdS.

53mbsbLBOL 5 by (90606 9dMEr0 BMMOY 45MOJIbY):

f(t) = i +EF(@) exp(—it)dt
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9dmbs390900L 33mMP539ds: 30¢dYMEOL gotsddbols dgmmpoom

1

bogbaero (39d&me0): 5(7)

0gf

06

® 5L MMoL Loybogrols Agolio s83WOF IS s BoBS? 04}
e Logbserols Mo bsffoeos 356>ambomeo/3gMomoviero, o2
Q5 65 bsfoerols s39MH0m©MEo? i

» 10865070l 36339b06980b/%300¢mHO5300b Jgoraog80“ o6}

08}
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%‘365600[} 30@60&)@)01) 60%06)0’)(")0602 0 26 AIEI BE BIEI 160 wzlu 11‘10 wéu 1éu 200
D(t) = S(t) + S, (1)

LSOE BIBJE00L 965 OBMMO F5BIMMGdS FM(390E0s 30¢EdIMEOL QoM ogdboom:

S;_rl[i} = l /_x S(T) dr

wd o So—F

1
3mbgemngos: S(f), P

B®0g boby: S (@) = —is(w) sgn(w)

3563mbomo 3md3mbB96E0L g3sbob Fobogzwgds 7/2-om.
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35950 MOQ:
S(t) = Acos(wt) ,

Sy, (t) =i4 sin(wt)
07790 BobIEOL BB s 530G YS:

D(t) = S(t) +iS,, (t) = A(t)e""

A(t) = [S* (1) + S2 (1)

0316009 39MOJAb0m 397d@MMH0OL 30edYMEHOL A9MJIBOL QOTMMZEPOL 3OMEYEMMS (>0):

1. @) > s(w)
2, Im[s(a))] Re[s(a))] : s(w) > s, (o)
3. Sy(@)—> S,(1)

Matlab

D = hilbert (S);
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Q©535¢ngds 10.1.

5530630l Mo sEMMo:

X7+ 0.05x(t) + x(t) +x(1) = 0

03(3900: X(t) > Mbg30L BHEMS9dEH™MMH00L 83 gd0 (583 0E™s) A(2).

Q53540905 10.2.
396 ©96 3ol Ao6EMEgds:

x"(1) = (1) x'(1) + x(1) = 0

030390 X(1) 5 ®bg30L BHM9JGHMM00L dmIZ3egdo (583¢od)©s) A(1).

@365 G900 580265bL60L 335 btr0 3rOHE9HO (X,.x');

X(1), A(t)

ddy/dt
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OL3OIONWO BO0Y B>MHEFIbs
a3m0o9 ) 3M030:

N
X(k)=3 x(Hay
j=1

N
K() = 13 X (R
N k=1

2iz/N
wy,=e’""" N <o

b

399&™6M0: x(1), x(2), ..., x(N)
53609 Loby: X(1), X(2), ..., X(N)

fftshift (0-2pi) -> (-pi,+pi)

U39BIMEH™WO OLIOYEHWO YoTE0S: ft

LHMOR30 Moy o0y (fast Fourier transform): ££ft / ifft  (N=27, dog: 512, 1024, ...)
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Matlab
0 = 0 D®H6 L |RaNs)E 0850 -
tfin = ]_OO,' i 160
dt = 0.1; | 1t
120
t = (tO:dt:tfin); 100 |
T = tf£fin-t0; S
N = length(t); B0 f
A0+
f = sin(2*pi*t) + 0.l*rand(1,N); | o |
G = fft(f); - -
QDD 10 20 30 40 A0 E;] 70 80 a0 100
plot(t, real (G));

=10l x|

© File Edit Wew Insert Tools Desktop Window Help

DeH&|kaadeE 08|80

9696300 139dGHMMGOo L0d336M039

250
GG = fftshift(G); ol
FEomega = abs (GG) ."2; 150}
plot (Eomega) ; 100}
| sk

0
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Lobdomggdo:
) Figure 1 o [=] ]
I File Edt “iew Insert Tools Deskkop ‘Window Help £l
R 2 IS ETNEEIRE
YWinar — At
: 250
A 2T
Wmin = .
T 200
150 |
w = { — Awmagr ;"12 . AWmin ﬂ"""‘:‘??'ﬂ-ﬂmf‘lg )
100 |
omega = (-pi/dt : 2*pi/T : pi/dt ); 2
plot (omega, Eomega) ;
%o an 20 10 0 10 20 a0 40

3950mfjdgon:
Matlab g3bd309%0:

fft
fftshift
ifft
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Q535¢ngds 10.3.

Bo5@96900 3DoL ¢odgdols Hobzol B3gdEHMow Mo sbserobo wmmdo (Matlab sunspot 3mbszgd9d0):
load sunspot.dat

year=sunspot(:,1);

wolf=sunspot (:,2);

033900 3Bob ¢5d9d0l 35(:05300L 39MHOM©Yd0;

Q©535¢ngds 10.4.
Boo@omgor Matlab chirp dmbs3gdgdol b3gdE® oMo sbserobo:
x = chirp(t,0,1,Fs/06);

©535¢mgds5 10.5.

Bo5@96900 3980 3bd300L B39dB®OIMHO sbarobo:

ft) =sin(t) exp( 0.2 t) + cos(3t) exp(-0.1t) + 0.2 rand

. Plot E(omega) vs. omega

. Plot Re(F) wvs. Im(F)

. Gl (omega) = F(omega) + random (physical) noise in phase;

. G2 (omega) = F(omega) + random (physical) noise in amplitude;
. plot on single graph: f(t), fl(t), f2(t)

g b w N

Random noise: Max amplitude = 0.2*Max(F);

F = A*exp(i*phi) : A — Amplitude; phi - phase;
fl = ifft G1

f2 = ifft G2

. subplot(2,2,1); plot £’ (t) vs f£(t)

. subplot(2,2,2); plot f1’ wvs f1l

. subplot(2,2,3); plot f2’' vs f2

0 I O
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Q3bsM®0: 565¢0BMMO BMb300L BMM0g goeodbgdol bGHOWO

30630 BMGH0Y boby
) N
o5 | @
1 2 -0(w)
1
- Vo
Emm \/ﬁ . 6 o H.)
cos(azx) Nors b(w—a)+0(w~+d
2
1 -
cos(ax”) NoT oS (E -3
" V215 ()

53169300 53009 Lobg
i —i\/gsgn(w)
2o —2 sin(ma/2)[(a+ 1)
VI el
sgn(z) ==
i d(x —nT) @i 5(@—?)
log || —‘ﬁf? V278 ()
Dy — \/ﬁ a—1
(Fiz) I (o) u (+w) (+w)
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39039¢ (wavelet) g56@5g4abos

009 39Mogdbs 5639698l Logaboerols L3gdEHEML (LOBAOMYgdL), FoaESA8 56> 0TS OMOL 1) M5 IMb3390do BBl
9L Lobdomy.

P
-

E_ (=N
My : -
MWWy
Time - Fregquency ]
Short time Fourier analysis (Gabor)
window I
ot oy
E Il.Ir ~ Ir ‘ 5
4| f r %
.;Ec \ J." "x.‘.. ! '
Time " Time ]

39039B9do:
|ﬂ| f'

- —MJ J

Wavelet (db10)

!
f—

d

Sine Wave
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76939640 30039 39O©ogdbs (WT)

scale 39039¢0b LI ES00
position  3903¢9HoL 3mbo0s

C(scale, pos) = I f(t)¥(scale, pos,t)dt

')ty

[(Wy f] (a,b) =

ol C)

abba@)bbo. [ 1" —

»—ﬂ\j ~— iy =W ; a=1
“Z_;\[\f_ i =wvy2) ;. a= %
e Jh i =yt : a= i

I:-.B\!I:l-lﬁll\'.lll:l"\!ﬂnlil\]ﬁlnm

3mBoEos:

)

Uﬂ ﬂ N _ J ] _ T :
il T AT
Wavelet function Shifted wavelet function 3 -
y(t) y(t—k) :

O 1 ||J“|u’|||| 1 luu'lu'wu'

2950 4DDD 4050 41 o] 4150 4200 42350

Scale

Time
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Daubechies wavelets (dbN)

Symlets

Wk fanca on [l ‘el nden pa

o e

[k

B

i D&

symée
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Wavelet 3535¢n0m0

load noissin;

figure (1) ;
plot (noissin);

c = cwt (noissin,1:48, 'db4"'");
figure(2);

mesh (c) ;
view (0, 90) ;

15
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Matlab: wscalogram

Fs = 1000;
fc = centfrg('cmorl-1");
% a = fc/ (freg*dt)

fregrange = [20 150];

scalerange = fc./ (freqgrange* (1/Fs));

t = linspace(0,5,5e3);

X = cos (2*pi*100*t) .* (t<1l) tcos (2*pi*50*t) .*(3<t)+0.3*randn (size(t))

C=cwt (x',1:200, 'db4d");
mesh (C) ;
view (0, 90) ;

2 200
15 180
160
1 1
140
0s 120
u] 100
s 80
=]
-1
40

. Saf e ﬁw@mmmm

1 1 1 1 1 1 1 1 1 D
0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000 ] 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
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scales
Coeffs
SCImg

scalerange (end) :0.2:scalerange (1) ;

cwt (x,scales, 'cmorl-1");

wscalogram('image',Coeffs, 'scales',scales, 'ydata',x, 'xdata', t);

Scales 3

48,4667
46,2667
44 0667
41.8667
396667
37 4667
35.2667
330667
30,8667
286667
26,4667
24 2667
220667
19.8667
17 BEG7
15,4667
13.2667
11.0667
6.86667

Analyzed Signal

e

5.BEE67
0

04 1

Scalogram

Percentage of energy for each wavelet coefficient

Z 25
Time {or Space) b

3

348

45
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load sunspot.dat
year=sunspot(:,1);

4
4

wolf=sunspot (:,2);
SCALES=50;

c = cwt (wolf,1:SCALES, 'db4d") ;
surf (c);

view (0, 90) ;
shading interp;

m
= i
L]
i
(=]
al
ﬂ.
L)
&
-
L)

1L 1“‘”":



SLEAMMB0D030L 53MEI69d0L FME0Mgds -1 / sgo. 0993Bsdg

w9daos 11-13/ 93. 20

®oRsOLMBOL 9gJuEHES3MES30S

3009350 33593L n MHoFoL EOLIMYEO FJOOMO.
333060905 39000, H~MAoL LoBMLBEg 046905 n+1 ...

f=F(h) + 0™

' Bml@o 860d3bgwmds
F(h) ©ob3M9EIo 39mMmEOo

F(h)y=f+0(Mh™) =f+Ch"+0(h™")

2459M309496Mm0 ©dIEr0 0ROl 1gds M53IbX MG MromS 453N M® LODMLE)Y.

dogy:
1) F(h)
2) F(h/2)

anj=f+CG)+mwm”U

AF(h/2)+ BF(h) = (A+B]f—|—£'(ﬂ + 5 )h” + 0(h™1)

2

A

AF(h/2) + BF(h) (B-+§z)

= f+C~—~2Lh" 4+ O(h"™!
A+B a+g oG
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(B+5)..
Co e o h =0

A=-2"B
A=1
B=-2"

F(h)—2"F(h/2)
2n—1

=f+O0(h"")

0B>OOLMBOL 06EHIM3MEs300l 8x0MEOm F03009m GO0 MY MBOM FoPIE0 OLIMYEGHEo F90MEO:

R (h ] ) _ 2"F(h/2)—F(h)

2" 1—2n

0B>MOLMBOL §JLEBHOI3MWS300L FgmmOo bgdolAYO K -l ¥ JMHS© doX DY:

k"F(h) — F(kh)

R(h k) =—— " —

3500996980 bngmea: fs6d098-1¢7980, 06998 H5¢1980, 698080900 OUZOHIAXICP0 3G
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Q©535¢ngds 13.1.

395G M0 HoMHTIMGOMs 45B5BMYs 0 dox ol 3-9 S 4-9 Gogob LoDMLEHOL OLIMYG IO BMOTJOS©:
1

') = - (fx + W) = f(x = h)) + 0(n*)

(0BROELMBOL 06EJM3MEo300LIM30L 2odmoygbgom bobgzs®doxo:  R(h,2)

998GHM3MWH300L s EJMBIEHO0MOo TgmM©YdO:
(0BsM-MM3dYGYO:

~b
[ f(x)dx = T(h) + ath* + aph* + azh® + ...,

i

L=

L Ty i1 — Tro1,j1
Tej = 4 -1
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35009l 53MJlods30s

5369 300L M530Mmbs MmO BMbJ30900L BIOPMBIM S3MHMJLOT>300L BgoMOO.

M M Fi
' z, o &%

flx) = ch:r . .
- k=0 z ‘E’W

Pade[n,m]
N+M

Tnem(z) = Z AnZ"

n=i)
N N
Zn UAH"'
M
Zm‘ 0 Bm"’

Pz =

1) Bo=1

2) A0, Al, ... B1, B2, ... b N+M+1 9936000 39530309630

3) 29305 M5300Mbs MO 736305 Bgowmmol (300350 s 3M9B030g6E OO Lblslbgs MHogol
(33Q2@)006 3FIYOML M.

35850 MI:

Pade[1,1]
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A[}+A1:

HO= S e
A;}‘I‘A]: _ z= 3
D 142+ + Oz
) + By 1+ +2+L{ )

1
Ag+ A1z +022 =1+ (Bi+1)z + (Bl+§):2 + 0%
3M99830309539d0L Jgscmqdom (z 6ydoldogemos):
1 1
Ao=1, Bi=-5, A==,
0 1 2 1 )
35009 [1,1] 536mdLods305 MoE0Mmbowme g3mbdisosco:
1+
1 —

]

[ =t

Pi(z) =

-1

[ | b=t

99L3Mb9BE L Foa03M5 FoMmIMgz0wY0bmo bgdolidog®mo b3ga. B3w6Jaos ...

Q53540905 13.2.
359l 536MHMJLods300m dMsbobgm 30M39co G030l dgLlgEol BBl MogoMmbscmo gmbdiool Lsboo

DoeBmpqbo:
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- (—1)™ T | 2me
Jol2) = E m!T(m + a + 1) (E)

m=I0

QsbsBgm dgLgols BmbdiEos, dobo [1,1] s [2,2] 35l 53MHMJLodszool 99a900.



